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1) What is the proof of "% 32 vy ' that "1on 723 927 D78 X% HR"?

7"02

2) Explain the question of the & n3, "&nv 2200 &5 " Rn»RN"?

3) According to the answer, explain when to use "p1 1w and when to use 71gp NWH?

4) According to this answer, explain why the 770 adds extra letters, in the proof brought by

5" ("oim 2"'wn)?

5) Why does the 70 write the word "x»w" if it is not “pa nwH?

6) What are the two nwxo7°a about who said 121 "7 7w o2wh"?

7) Translate the saying "77%p 717 17°170% QX maw° a2wH"?

8) Explain the question of the X913 on this?

9) What is the answer?

10) (Why couldn’t the 70 have written "naw»" (without a ) (‘owm >"w9)?

11) What is the example for this (msoin)?

)
12) Summarize the story of >1°n%n >an 1m17?
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